2015-05-11

20158EY57<v>L—AX Round3 WEATHER :  Fine
FIT 15FvL2hyT COURSE : Dry
N B
Lap Time Chart HEY—FyrEI—X
1 T A #i =JUOE48Kone7 A7JLAWME SPM GK5 PIT: 1E
1= 3= *1'00.788 5= 1'10.298 6= 1'01.062 7= 1'01.242 8= P1'19.523
2= 1'04.059 4= 1'00.929
7 A FHETLFi-—ILXk T4t )% URS % FIT GK5 PIT: 1[H
1= 3= *1'01.475 5= 1'01.786 7= 1'01.768 8= 1'01.840 9= P1'19.526
2= 1'01.780 4= 1'01.846 6= 1'01.948
9 B ¥ XA. C.E+Motysil 8 E T+ b GK5
1= 3= 1'01.179 5= 124527 7= 1'10.140 8= *1'01.100 9= 1'02.515
2= 1'01.401 4= 1'01.638 6= 1'17.221

11 8 FN M EHondaCars® # KYB FIT GK5 PIT: 11
1= 2= 1'01.666 3= 1'01.319 4= 1'01.386 5= *1'01.184 6= P1'15.916
18 H#EH #®MAIMC KE—AF SSR ED GK5

1= 3= 1'01.394 5= 1'04.399 7= 1'01.307 8= 1'01.565 9= 1'02.098
2= 1'03.192 4= *1'01.246 6 1'06.769

22 FH ¥ RINOKI M2 BS FIT GK5 PIT:1[E

1= 3= 1'01.669 5 1'03.305 7= 1'01.312 8= 1'01.230 9= P1'12.112
2= 1'03.551 4= *1'01.003 6= 1'17.260

25 % # ZEBRIDE& 7490174 & K— oneFIT GK5

1= 3= 1'01.586 5= 1'01.665 7= 1'01.682 9= 1'01.517 10= 1'01.750
2= 1'06.244 4= *1'01.077 6= 1'05.906 8= 1'01.359

30 EH # %HondaCars®E " 8 %* £+ ) FPFIT GK5
1= 3= 1'12.687 5= 1'00.799 7= 1'21.525 8= 1'09.408 9= 1'01.023
2= 1'31.257 4= *1'00.701 6= 1'00.728

37 IRH £ WMWM--L7YI-ENKEI-SRDFIT GK5 PIT: 1H

1= 3= 1'01.907 5= 1'01.140 7= 1'01.016 8= 1'02.585 9= P1'45.537
2= 1'04.040 4= *1'00.725 6 1'01.025

54 K H ® EHondaCars=  A— ONE FIT GK5

1= 3= 1'05.696 5= *1'02.966 7= 1'04.033 9= 1’03413  10= 1'03.168
2= 1'06.677 4= 1'05.281 6= 1'03.311 8= 1'03.367

55 wmEx B ETBOLD 9D9IAFMHYYY¥4Y TI3R GK5 PIT:1[H

1= 3= 1'24.248 4= 1'08.179 5= *1°00.111 6= 1'00.412 7= P1'14.195
2= 1'27.008

67 # H HBS YAMATO FIT GK5 PIT: 1H
1= 3= 1'05.550 5= 2'00.231 6= 1'04.604 7= 1'03.858 8= *1'03.406

2= 1'08.495 4= P1'13.551



2015-05-11

20158EY57<v>L—AX Round3 WEATHER - Fine
FIT 15FvL>ohyT COURSE : Dry
N2
Lap Time Chart HEY—FyrEI—X
70 EOR Y78 —-—UNUTECH 8 BE GPO X H R GK5 PIT: 1[H
1= 3= 1'00.809 5= *1'00.804 6= 1'01.008 7= 1'00.991 8= P1'23.584
2= 1'16.876 4= 1'00.906
77 b & #HEXOKC.BSH B 7+ I FFIT GK5 PIT: 1[H
1= 3= 1'02.791 5= 1'01.765 7= *1'01.128 9= 1'01.483 10= P1'13.895
2= 1'03.631 4= 1'02.810 6= 1'01.800 8= 1'01.418



